This week’s quiz is one day early: Thursday

How do we draw Lewis Dot structures for
MOLECULES?

please tape or staple in the handout strip

1) ATOMIC RADIUS increases as you go towards
francium

2) IONIZATION ENERGY increases as you go towards
helium

3) ELECTRONEGATIVITY increases as you go
towards helium

4) atom charge = (# of protons) - (# of electrons)

5) atomic mass # = (# of protons) - (# of neutrons)



6) Lewis dot structures only show valence e-

7) When are atoms stable?

Most atoms are stable if the have electrons

in their \,L enNce or

Except for really small atoms (H, He, Li, Be, B). They
are stable if they have 2 electrons in their
valence orbit.

8) Where are the valence e- in molecules?
a. valence e- in molecules are usually in pairs
a covalent bond is made of paired e-
C. coval nt bonds hold atoms together
Po Sitiyve V\uc' &S

%'ol these are the only allowed covalent bonds:
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1s22s2 To Lewis Dot

CheMis+ry: http://genest.weebly.com

Stop in for help every day at lunch and Tues,&Thurs after school!

1. Rewrite the foll Noble Gas Abb: t longeg.v of elecgro tion (1% 2s®
e S 59;,2’ e
2 [Aasa |9 s? P A a( } A A
b. [He]2s%2p® |g 28 Zr e e feo

c. Write the Lewis Dot symbol for each of the two Qoms above:

'TL' s Fo

2. fora NEUTRAL atom with the following electron c%_nﬁguration:

1522522p63523p64523d1°4p2

— 2.4
Write a Lewis dot Thisatomhas ~ | valence
diagram (Letter and e-
dots) therefore it is (stable/ unstable
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3. fora NEUTRAL atom with the following electron configuration:

2 b
1522522p63523p64s
Tell how many e- arein each energy level
17 e 3 g g\ ge O
This atom has __gpne  valence e-

therefore it is (stable / @E[& )
Write a Lewis dot diagram (Letter and dots) * K

4. With the help of gour Rewrite the following Noble Gas Abbreviations in the longer version of electron
configuration (1 s 25 etcetera)

2
a. [Ards?3d"ap' ¢ 252206 35 39“'13 2w ‘{Pq
b. [HeJ2s*2p’ | 25 2p9
c. Write the Lewis Dot symbol for each of the two atoms above:

Se‘ :F:




5. fora NEUTRAL atom with the following electron configuration:

15°25°2p°3s?3p°45°3d"°4p°55%4d*%5p>

Tell how many e- are in each energy level

1 2 2. 8 39 g 4m lg 5. 3

.
This atom has 5 valence e-
therefore it is (stable / @ °6L) ¢
o

Write a Lewis dot diagral etter and dots)

6. fora NEUTRAL atom with the following electron configuration:

1s*2s%2p°3s?3p°4s?3d® — Q_g

eTrons
Tell how,many e- are ln each energy lev
é 4lh

ISt. 2 2n 3rd l Slh: O 2 ’LG .k(x{;
This atom has L valcnc e- — ?‘b
thcn:eforc it |s (stablc_‘ / u@ble ; a :M{\

Write a Lewis dot diagram (Letter and dots)

7. Do three things for a NEUTRAL atom with the following electron configuration: '

[Ar]4s3d?

With the hclp of yo lablé te lh?on@/ersmn of the a@c electron configuration.
s Zs 2 Bt

Tell how many e- are in each energy level
1% 2 2B 3% 42 %0
This atom has Z valence c-

therefore it is (stable / ugSRble ) O'T'-
Write a Lewis dot diagram (Letter and dots)

8. fora NEUTRAL atom with the following electron configuration:

Tell how many e- are in each encrgy level

lsl z 2nd 8 3!' b 4lh: D Slh:o

This atom has valence e- e
therefore it is (stable / u@)le ) . Py
;Wrilc a Lewis dot diagram (Letter and dots) ) $ @
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9. Do three things t'c;r a NEUTRAL atom with the following electron configuration: -
[Ar]4s°3d'’4p’
With the help of your table, write the long version of the above electron configuration.
2 27,6 2 Z o L{ 3

1s22s2Zpb3s?3pC YT 2de Hp
Tell how many e- are in each energy level
It 2 o @ 3. |g 4. 5 . o
This atom has 5 valence e- .o
therefore it is (stable / le) < A S .
Write a Lewis dot diagram (Letter and dots)

10. The graph of ionization Draw a Bohr-style alomin |

energies fora 13- this box.
electron atom is shown
here. Based on the

difficulty of ionization,

electrons 1, 2, &3 are ionization energies
probably (near the 2500.0
nuc_leus /@ _—
orbit)
11. Based on the difficulty 'é 1500.0

of ionization, electrons

12 & 13 are probably
(mcar the nucias/ in the 007
valence orbit) 0.0 ot

1 2345678 910111213

12. In the the box, draw a 13 slecirons beleg rewioved ane by te
Bohr style atom. Your
atom should have 13
protons. The electrons
should be in three
circular shaped orbits.

13. Write a balanced equation for ™ anionz losing two electrons: 2 e—

—

14. Write a balanced equation for the only stable calcium ion gaining two electrons:

¥ e — Cay




